1.  Why were the Articles of the Confederation removed? List all of the weaknesses.  What caused the country to realize that the Articles were not strong enough to keep the states together (a rebellion)? List and explain the plans and compromises need to get from the Articles to the Constitution.  How did the Constitution correct the weaknesses?

A. Weaknesses of the Articles
                 
     Plans and Compromises

                    
Corrections by the Constitution

	1. States are only a firm league of friendship. 

They act as independent countries.

2. No Power to tax.

3. No Executive Branch.

4. All states had to agree to amend (make 

changes) the Articles of Confederation.

5. 9/13 of states must agree to pass laws.

6. No judicial Branch.

7. No power to regulate commerce.

8. Only one vote for each state no matter size.

	New Jersey Plan-

1. Unicameral legislature

2. Equal representation per state.

Virginia Plan- 

1. Three Branches

2. Bicameral legislature

a. One house representation by population.

b. One house by the amount of taxes a state paid. 

Connecticut Compromise (Great Compromise)

1. Three Branches

2. Bicameral Legislature

a. One house by population (House of Representatives)

b. One house with equal representation (Senate)

Slave Trade Compromise-

The slave trade will not be regulated for 20 years

3/5 Compromise- A slave will be counted as 3/5 of a vote when determining the amount of representatives for the states. 


	1. Under the Constitution and Federalism, the

central government would be more powerful 

than the state governments.

2. Under Article 1, Congress has the power

to tax.

3. Article 2 creates the Executive Branch.

4. Article V provides for provisions for the 

formal amendment process.

5. All that is needed is a majority vote in 

both the House and Senate and a signature

by the president.

6.  Article 3 creates the judicial branch.

7. Article 1 gives Congress the power to 

regulate Commerce.

8. The House is representation by population

and the Senate is equal representation per

state. 


